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m1 = 0.2 ��p m2 = 8 ��p F = 13 � p
P = 12 � p

M = 0.4 �� p cosα = 0.8
p

R = 10
y� p S = 25.4
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m1 = 3 ��p m2 = 9 ��p m3 = 3 ��p
R = 3r

p
ρ = 2r

p
F = 6 � p

S = 48
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m1 = 4 ��p m2 = 3 ��p F = 6 � p
P = 168 � p

M = 2 �� p r = 3
y� p

R = 5
y� p ρ = 5

y� p S = 128
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m1 = 8 ��p m2 = 6 ��p F = 39 � p
P = 6 � p

M = 6 �� p cosα = 0.6
p

R = 1� p S = 49
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m1 = 0.1 ��p m2 = 0.8 ��p R = 10
y� p

F = 5 � p
M = 1.5 �� p S = 8
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m1 = 3 ��p m2 = 40 ��p R2 = 30
y� p

R1 = ρ1
p
M = 21 �� p F = 70 � p

P =

169 � p
S = 36
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m1 = 25 ��p m2 = 3 ��p F = 15 � p
P = 259 � p

M = 10 �� p r = 4
y� p

R = 5
y� p ρ = 2

y� p S = 98
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m1 = 3 ��p m2 = 8 ��p F = 2 � p
P = 34 � p

M = 30 �� p RA = 40
y� p

rA = 30
y� p ρA = 20

y� p S = 14
y� p

R2 = 40
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m1 = 48 ��p m2 = 3 ��p m3 = 32 ��p
R1 = 3r1

p
ρ = 2r1

p
F = 97 � p

S = 16
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m1 = 24 ��p m2 = 1 ��p m3 = 16 ��p
R1 = 3r1

p
ρ = 2r1

p
F = 72 � p

S = 1
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m1 = 49 ��p m2 = 8 ��p F = 14 � p
P = 42 � p

M = 14 �� p R1 = 40
y� p

r1 = 30
y� p ρ1 = 20

y� p S = 48
y� p

R2 = 20
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m1 = 1 ��p m2 = 80 ��p R = 40
y� p r =

20
y� p ρ = 10

y� pR2 = 36
y� p F = 12 � p

P = 10 � p
S = 22
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